The modification for section 8.6.4

…
The constructed residual samples are derived as specified in the following ordered steps.

· If transSkipFlag is equal to 1, the following applies.
1. The variable shift is derived as follows:

–
If cIdx is equal to 0,

shift = 13 – BitDepthY

(8‑269)
–
Otherwise,

shift = 13 – BitDepthC

(8‑270)
2. The residual sample value rij with i=0..(nW)−1, j=0..(nH)−1 is derived as follows.
             –
     If shift is larger than 0            
                      rij = ( dij + (1 << ( shift − 1) ) ) >> shift

(8‑271)
            –
    Otherwise,

                    –  If shift is equal to 0

       rij = dij 

 –  Otherwise
    rij = dij  << ( - shift)
· Otherwise (transSkipFlag is equal to 0), the following applies.
…
